ZF B B % 50m

[[=tiva K £ 9574 B4 Ls
18~24% KX 5

1 1itEH BE WmE 30.61

2 fRE & e 31.46

3 =8 x£B KR 32.22

4 Bl tkEF AGEE] 33.81

5 EH EmNF = 35.26
25~ 2915 X 4

1 A HE #HE 30.28

2 55H HxEF NEE 30.76

3 B X EE 31.73

4 hE EiR /5T 32.58

5 h#H HH NEE 34.45
30~34EXH

1 i3 ==x HAE 35.21

2 i &4 =1 38.41
35~39m X5

1 R Biz TH 31.18
A0~ 4455 K 5

1 kErK ER Pa & 8% 30.73
45~ 4915 X 4

1 BHE ERF HEER 35.19

2 Z5%H BHE =10 36.85

3 KE B>5Z =B 38.20
50~54%% X 4

1 BR HPE BEEMNE 39.16

2 B BRF F/51 39.70

3 mAR ¥ EmAE 41.95

4 mE % Mg 47.48
55~59i% X 9

1 K% BAF F/:T 4407

2 AR FF BELAR 4458

3 BR KX A 45.49

4 #B ExXE EmAE 46.48

5 INEH EE A1 51.93
60~647% X 5

1 hE INRF Mg 41.00

2 ER ASF HlgE 48.63

3 =R e F/iT 51.16
65~69i% X 5

1 INS A ZF YA 43.55

2 REiE E=HKF YA 54.70

3 &% \BEF BEEAR 1:02.74
70~ 748X 5

1 KiE EF = 49.19

2 S5H 1FK BEMNE 58.67

3 HWE FZF EE 1:02.93

1/1R=2



